



B.Com. DEGREE EXAMINATION — 
JANUARY, 2009.

First Year

Bank Management

PRINCIPLES OF ACCOUNTING

Time : 3 hours
Maximum marks : 75
Answer for 5 marks questions should not exceed 
2 pages.

Answer for 15 marks questions should not exceed
5 pages.

SECTION A — (3 ( 5 = 15 marks)

Answer any THREE questions.

1. What are the factors that causes depreciation?

G¢öu¢u Põµn[PÍõÀ ÷u´©õÚ® HØ£kQßÓx?

2. On what basis you would apportion the following expenses in departmental P & L a/c?

(a)
Advertisement

(b)
Lighting

(c)
Rent

(d)
Discount received

(e)
Canteen expenses.

xøÓÁõ› C»õ£ |mh PnUSPÒ u¯õ›US® ÷£õx, RÌPsh ö\»ÄPøÍ G¢u Ai¨£øh°À ¤›¨¥ºPÒ?

(A)
ÂÍ®£µ®

(B)
öÁÎa\®

(C)
ÁõhøP

(D)
ö£ØÓ uÒÐ£i

(E)
EnÄ Âkv ö\»ÄPÒ.

3. From the following information prepare a total debtors account as on 31.3.06.

	
	Rs.

	Debtors 1.4.05
	8,965

	B/R received during the year
	4,500

	Credit sales
	36,041

	Cash paid
	68

	Cash received
	30,550

	
	Rs.

	Discount allowed
	1,319

	Returns
	181

	Credit transfer to bought ledger
	87

	B/R dishonoured 
	1,300

	
	


RÌPsh uPÁÀPÎ¼¸¢x  PhÚõÎPÒ PnUøP u¯õ›UPÄ®.

	
	¹.

	PhÚõÎPÒ C¸¨¦ (1.4.05)
	8,965

	ÁµÄUS›¯ Esi¯À |h¨¦ BsiÀ ö£ØÓx
	4,500

	Phß ÂØ£øÚ
	36,041

	öµõUP® öPõkzux
	68

	öµõUP® ö£ØÖU öPõshx
	30,550

	AÝ©vzu uÒÐ£i
	1,319

	v¸¨¤ AÝ¨¤¯ \µUS (EÒv¸¨£®)
	181

	öPõÒ•uÀ HkUS ©õØÓ®
	87

	ÁµÄUS›¯ Esi¯ÀPÒ AÁ©vUP¨£mhøÁ
	1,300

	
	


4. A partner has withdrawn the following sums of money during the half year ending 30.9.06.

	
	Rs.

	1st May 06
	2,000

	18th May 06
	200

	3rd July
	50

	18th September
	1,000


Find the Average due date.

J¸ {ÖÁÚzvß TmhõÎ RÌPsh |õmPÎÀ Gk¨¦ ö\´xÒÍõº.

	
	¹.

	1.5.06
	2,000

	18.05.06
	200

	3.7.06
	50

	18.9.06
	1,000


30.9.06À •iÁøh²® Aøµ Bsk PnURmk \µõ\› uÁøn |õÒ PnUQhÄ®.

5. Z sends 100 boxes of powder to Y  at Rs. 100 each.  His expenses were Rs. 1,000. Only 90 boxes reached Y. His expenses are unloading Rs. 900; godown rent 
Rs. 250 ;  Commission on sales Rs. 250. He sold  
75 boxes @ Rs. 150 each.  Z received Rs. 1,050  from the Insurance Company.

Calculate the value of closing stock with Y.

Z  100 ö£miPøÍ JßÖ ¹. 100 Ãu® Y US AÝ¨¤Úõº. AÁµx ö\»Ä ¹. 1,000.  90 ö£miPÒ ©mk®  Y  °h® ö\ßÖ Aøh¢uÚ.  AÁµx ö\»ÄPÒ.

\µUS CÓUQ¯ ö\»Ä ¹. 900

Qh[S ÁõhøP ¹. 250

ÂØ£øÚ uµS  ¹. 250.

Y  75 ö£miPøÍ JßÖ ¹. 150US ÂØÓõº.  Põ¨¥k {ÖÁÚzvhª¸¢x   Z ¹ 1,050 ö£ØÖU öPõshõº. Y °h® EÒÍ CÖv \µUQß ©v¨ø£ PnURk ö\´P.

SECTION B — (4 ( 15 = 60 marks)

Answer any FOUR questions.

6. Rama started business as a cloth merchant on 1.4.05 with a capital of Rs. 10,000.  On the same day he purchased furniture for Rs. 3,000. From the following details obtained from his books kept by single entry, you are asked to prepare a Trading and Profit and Loss A/c for the year ending 31.3.06 and a Balance Sheet on that date.

	
	Rs.

	Sales (inclusive of cash Rs. 7,000)
	17,000

	Purchases (inclusive of cash Rs. 4,000)
	15,000

	Drawings
	1,200

	Salary
	2,000

	Bad debts
	500

	Business Expenses
	700


Rama Took cloth worth Rs. 500 from the shop for his own use and paid Rs. 200 to his son.  They were not recorded in Books.

On 31.3.06 his debtors were Rs. 5,200; His creditors were Rs. 3,600. Stock on hand Rs. 6,500 on 31.3.06.

1.4.05À xo  Â¯õ£õ›¯õP Cµõ© ¹. 10,000 •u¾hß Â¯õ£õµzøu öuõh[QÚõº. Aß÷Ó AøÓP»ß ¹. 3,000US Áõ[QÚõº.  

RÌPsh uPÁÀPÒ – AÁµx PnUS HmiÀ JØøÓ £vÄ •øÓ°À ö\´¯¨£mkÒÍx–QøhUP¨ö£ØÓÚ. Bsiß CÖv PnUSPøÍ u¯õ›UPÄ®.

	
	¹.

	ÂØ£øÚ (öµõUP Â¯õ£õµ® ¹. 7,000 ÷\ºzx)
	17,000

	öPõÒ•uÀ (öµõUP öPõÒ•uÀ ¹. 4,000) ÷\ºzx
	15,000

	Gk¨¦
	1,200

	Fv¯®
	2,000

	ÁµõUPhß
	500

	Â¯õ£õµa ö\»ÄPÒ
	700


Cµõ© ö\õ¢u E£÷¯õPzvØUPõP ¹. 500 ©v¨¦ÒÍ xoø¯ GkzxU öPõshõº.  AÁµx ©PÝUS ¹. 200 öPõkzuõº.  BÚõÀ C¢u |hÁiUøPPÒ HmiÀ £vÄ ö\´¯¨£hÂÀø».

31.3.06À •iÁøh²® BsiÀ 

PhÚõÎPÒ ¹. 5,200

Phß D¢÷uõº ¹. 3,600

CÖv \µUS ¹. 6,500

GÚ PnUS HkPÒ Põs¤zuÚ.

7. Fire occurred in the godown of A & Co. On 1.9.05 and the stock of the value Rs. 1,01,000 was salvaged.  The following information was obtained.

	
	Rs.

	Purchases for the year ending 31.3.05
	6,80,000

	Sales for the year ending 31.3.05
	11,00,000

	Purchases from 1.4.05 to 31.8.05
	2,50,000

	Sales from 1.4.05 to 31.8.05
	3,60,000

	Stock on 31.3.04
	3,00,000

	Stock on 31.3.05
	3,40,000


Further information given that the stock on 31.3.05 was over valued by Rs. 20,000. In April’ 05 the selling price was lowered by 10%.

Calculate the claim.

01.09.05 À w Â£zx A & ÷Põ Qh[QÀ HØ£mk 
¹. 1,01,000 ©v¨¦ÒÍ \µUS Põ¨£õØÓ£mhx.  RÌPsh uPÁÀPÒ QøhUP¨ö£ØÓÚ.
	
	¹.

	31.3.05À •iÁøh²® BsiØPõÚ öPõÒ•uÀ
	6,80,000

	31.3.05 À •iÁøh²® BsiØPõÚ ÂØ£øÚ
	11,00,000

	1.4.05 •uÀ 31.8.05 Áøµ öPõÒ•uÀ
	2,50,000

	1.4.05 •uÀ 31.8.05 Áøµ ÂØ£øÚ
	3,60,000

	CÖv \µUS 31.3.04
	3,00,000

	CÖv \µUS  31.3.05
	3,40,000


÷©¾® Qøhzu uPÁÀPÎß £i 31.3.05À CÖv \µUS ©v¨¦ ¹. 20,000 AvP©õP Põs¤UP¨£mkÒÍx.  H¨µÀ 05À ÂØ£øÚ Âø» 10% SøÓUP¨£mkÒÍx.

Põ¨¥k {ÖÁÚzvh® ÷Põ¸® öuõøPø¯ (|mh Dk) PnUQhÄ®.

8. Bharath stores Ltd sends goods to its Branch at cost plus 25%. From the following details prepare Branch Account to find its profit for the year ending 31.3.04.

	
	Rs.

	Stock (31.3.03)
	75,000

	Stock (31.3.04)
	90,000

	Debtors (31.3.03)
	42,000

	Debtors (31.3.04)
	54,000

	Goods from Head office
	5,46,000

	Rent and Taxes
	24,000

	Sundry Expenses
	4,800

	
	Rs.

	Cash sales
	3,24,000

	Credit sales
	2,10,000

	Cash received from debtors
	1,98,000

	Wages paid
	22,400


£õµz ì÷hõºì ¼m ußÝøh¯ QøÍUS \µUQøÚ AhUP Âø»°À Tku»õP 25% ÷\ºzx AÝ¨¦QÓx.  RÌPsh uPÁÀPÎ¼¸¢x 31.3.04À  •iÁøh²® BsiØPõÚ QøÍ°ß C»õ£zøu Psk¤i.

	
	¹.

	\µUQ¸¨¦ (31.3.03)
	75,000

	\µUQ¸¨¦ (31.3.04)
	90,000

	PhÚõÎPÒ (31.3.03)
	42,000

	PhÚõÎPÒ (31.3.04)
	54,000

	uø»ø© A¾Á»Pzv¼¸¢x ö£ØÓ \µUS
	5,46,000

	ÁõhøP²® ©ØÖ® Á›²®
	24,000

	£Ø£» ö\»ÄPÒ
	4,800

	öµõUP ÂØ£øÚ
	3,24,000

	Phß ÂØ£øÚ
	2,10,000

	PhÚõÎ°hª¸¢x ö£ØÓ öµõUP®
	1,98,000

	T¼ öPõkzux
	22,400


9. The following purchases were made by a Trader having three departments.

	Dept X
	1,000 units
	
at a total cost 
of Rs. 1,00,000

	Dept Y
	2,000 units
	

	Dept Z
	2,400 units
	


Stock on 1st April

	Dept X
	120 units

	Dept Y
	80 units

	Dept Z
	152 units


The sales were as follows :

	Dept X
	1,020 units @ Rs. 20 each

	Dept Y
	1,920 unit @ Rs. 22.50 each

	Dept Z
	2,496 unit Rs. 25 each


The rate of gross profit is the same in each case.

Prepare Departmental Trading Account.

‰ßÖ xøÓPøÍ øÁzv¸US® J¸ Â¯õ£õ› RÌPsh öPõÒ•uø»a ö\´uõº.

	xøÓ X
	1,000 A»SPÒ
	
ö©õzu Âø» 
¹. 1,00,000

	xøÓ Y
	2,000 A»SPÒ
	

	xøÓ  Z
	2,400 A»SPÒ
	


öuõhUP \µUS H¨µÀ 1® ÷uv

	xøÓ X
	120 A»SPÒ

	xøÓ Y
	80 A»SPÒ

	xøÓ  Z
	152 A»SPÒ


ÂØ£øÚ ÂÁµ® :

	xøÓ X
	1,020 A»SPÒ ¹. 20 Ãu®

	xøÓ Y
	1,920 A»SPÒ ¹. 22.50 Ãu®

	xøÓ  Z
	2,496 A»SPÒ ¹. 25 Ãu®


C®‰ßÖ xøÓ°¾® C»õ£ \uÃu® JßÖuõß.

xøÓÁõ›¯õP Â¯õ£õµU PnUøP u¯õ›UPÄ®.

10. Durai of Erode purchased 1,000 meters of silk cloth at Rs. 60 per meter and send it Chandran of Chennai.  Durai’s expenses were Rs. 2,000 on packing. Chandran received the consignment and paid Rs. 5,000 as Freight.

Durai drew upon Chandran for Rs. 50,000. Durai discounted for Rs. 48,500. Chandran sold 900 meters 
@ Rs. 90 per meter and had to pay Rs. 2,520 as expenses.

Durai took over the remaining stock at cost plus 10%. Durai is to be allowed a commission on sales at 5% and profit are to be shared in the ratio of Durai 3/5 and Chandran 2/5.

Prepare Ledger Accounts in the Books of both the parties.

D÷µõmøha ÷\º¢u xøµ 1,000 «mhº £mk xoø¯, J¸ «mhº ¹. 60 GßÖ öPõÒ•uÀ ö\´x  ö\ßøÚa ÷\º¢u \¢vµÝUS AÝ¨¤Úõº.  xøµ°ß ö\»Ä ¹. 2,000. \¢vµß \µUQøÚ ö£ØÖU öPõshõº.  Ásia \zu® 
¹. 5,000 ö\¾zvÚõº.

¹. 50,000US \¢vµß «x xøµ ©õØÖ ^mk GÊv Áõ[QÚõº.  Aøu ¹. 48,500 US Ámh® ö\´uõº.  \¢vµß 900 «mhº £mk xoø¯, J¸ «mhº ¹. 90US ÂØÓõº.  AÁµx ö\»Ä ¹. 2,520.

«v \µUøP AhUP Âø»²hß 10% ÷\ºzx xøµ GkzxU öPõshõº. ÂØ£øÚ°À 5% uµS xøÓUS uµ¨£h÷Ásk®.  C»õ£zøu xøµ 3/5 , \¢vµß  2/5 GÚ ¤›zx öPõshõº.

C¸Áº Hmi¾® ÷uøÁ¯õÚ PnUSPøÍ u¯õ›UPÄ®.

11. P draws a bill on Q for Rs. 1,500 on 1.4.04 for 
3 months.  Q accepts the bill and sends it to P.  
P discounts it for Rs. 1,470. P immediately remit 
Rs. 490 to Q.

On  due date P being unable to remit the amount due,  accepts the bill for Rs. 2,100 for 3 months which is discounted by Q for Rs. 2,055. Q sends Rs. 370 to P.

Before the maturity of the bill P becomes Insolvent,  his estate paying fifty paise in the rupee.

Give Journal entries in the books of P & Q. Also show P’s account in Q’s Books.

P Gß£Áº Q&°ß «x ¹. 1,500&US ‰ßÖ ©õu ©õØÖa^mk JßøÓ 1.4.04&À GÊv Áõ[QÚõº. P Aøu 
¹. 1,470&US Ámh® ö\´uõº. Ehß ¹. 490&I Q&US AÝ¨¤Úõº. uÁøn ÷uv°À ö\¾zu ÷Ási¯ öuõøPø¯ P ö\¾zuõvÚõÀ uß«x ¹. 2,100&US ©õØÖa^mk GÊv Q&US AÎzuõº. Aøu Q ¹. 2,055&US Ámh® ö\´uõº. Q ¹. 370&I P&US AÝ¨¤Úõº. uÁøn ÷uvUSÒ P vÁõ»õ BÚõº. AÁº ö\õzxUPÎ¼¸¢x ¹£õ´US I®£x ø£\õ ©mk® ö£Ó •i¢ux. P ©ØÖ® Q&ß HkPÎÀ ÷uøÁ¯õÚ £vÄPøÍ £v¢x Q&ß HkPÎß P&ß PnUøP u¯õ›UPÄ®.

12. What are the limitations of financial accounting?

{v PnUQ¯¼ß  SøÓ£õkPÒ ¯õøÁ?

—————————
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